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00000 >>0000000000Return00)0000000ODO0O

goood

@ZEH abl atb (b)ITHILHELEITIER

1 >> A=[16 3+i 2 13;5 10-i 11 8;9 6 7+2i 12;4 15 14-4i 1] ! A
>>a=1 EA: ! }ans=
a :1 ! 16.0000 +0.0000i 3.0000 + 1.0000i 2.0000 +0.0000i 13.0000 + 0.0000i i E 16.0000 +0.0000i 5.0000 +0.0000i 9.0000 + 0.0000i 4.0000 + 0.0000i
| 5.0000 +0.0000i 10.0000 - 1.0000i 11.0000 + 0.0000i 8.0000 +0.0000i 1130000 - 1.0000i 10.0000+1.0000i 6.0000+0.0000i 15.0000 +0.0000i 1
>>b=2.5 | 9.0000+0.0000i 6.0000+0.0000i 7.0000 +2.0000i 12.0000 +0.0000i 1} 2.0000+0.0000i 11.0000 +0.0000i 7.0000 - 2.0000i 14.0000 + 4.0000i |
b= | 4.0000+0.0000i 15.0000 +0.0000i 14.0000 - 4.0000i 1.0000 + 0.0000i !} 13.0000 +0.0000i 8.0000 +0.0000i 12.0000 +0.0000i 1.0000 +0.0000i !
o 32:::)000 1>>inv(A) E E >>A!
ans = | ans = 1 lans=
3.5000 E 1.4762 +1.8175i 3.6349 +5.6587i -3.9048 - 5.5952i -1.4127 - 1.7540i | | 16.0000 +0.0000i 5.0000 +0.0000i 9.0000 +0.0000i 4.0000 + 0.0000i !
| -3.2381+0.8095i -9.7143+1.8095 9.7143 - 2.0000i 3.2381 - 1.0000i E i 3.0000 +1.0000i 10.0000 - 1.0000i 6.0000 +0.0000i 15.0000 +0.0000i |
| 3.2381-0.3095i 9.7143 -0.3095i -9.7143 +0.5000i -3.2381 + 0.5000i 11 2.0000 +0.0000i 11.0000+0.0000i 7.0000 +2.0000i 14.0000 - 4.0000i |

| -1.4286-2.1270i -3.5873 - 6.5873i 3.9048 + 6.5238i 1.4127 + 2.0635i H 1 13.0000 +0.0000i 8.0000 +0.0000i 12.0000 +0.0000i 1.0000 +0.0000i
I

__________________________________________________________________________________

022 (a)00a b0ae+b0(b)00000000000000000
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22,1 0O000O0OOOOOOO0OOO0OO0OOOO0O0

00 2.2a)
e >>0000000000000000000¢ 5000000
ea+b0000000e+b00000000

Oo0o0odb0obD c0b00000c=a+0000000000O0

O0000000O0axb0a/bO

"0z n0O0000O

O00000000000000000Osin(e)000O

O0UOz+iyUzx+y 000001406 00000:00000
sj00boooogon

guooooooo
https://jp.mathworks.com/help/matlab/matlab_prog/matlab-operators-and-
special-characters.html
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e JUU0OLDDOnO10DUOODLDDOOODLODOOOOODDOOO
gboogood

e ADDDDODO inv(4)D

23.2 0O0O0OO

MATLABOOOOOOOOOOOOOOOOOOOOoOoOoooboooo
OO0DO0000ODO0O0O0 MATLABOOOODOODOODODOODOO
gooob PythonOOOOODOODOOO

0.8415 0.9093 0.1411
-0.7568 -0.9589 -0.2794

1>>A=[123;456;789] 1 ' >> B=[sin(1) sin(2) sin(3); ! 1>>A*B |

' ~ ' ' sin(4) sin(5) sin(6); : ' ans = !

1A= ' I sin(7) sin(8) sin(9)] b !

P12 ! g .} 12988 1.9595 0.8186 '
= 1

, 456 ! : || 35238 47787 16401 |

! ! | 08415 09093 0.1411 I '

7 8 9 ! ' || 57488 7.5979 2.4616 !

Uos Ar10 | 1 -0.7568 -0.9589 -0.2794 L A !

1 1 1 1 >>A.

I I | 06570 0.9894 0.4121 ot |

I ans = 1 1 h : ans = I

1 1 1 el

1112 13 | 1> B==sin(A) |1 08415 18186 04234 !

1 1 1

ans = 1

' 14 15 16 ! ! ! 30272 -4.7946 -16765 :

I 1 3x3 ® logical BL5l ! !

' 17 18 19 ! ! gi o 45989 7.9149 3.7091 !

! ! 111 oo I

: >> sin(A) 1 : !

I ' 111

I ans = 1 1

i i 111

1 | 1

1 | 1

1 | 1

1 | 1

1 | 1

1 1

0.6570 0.9894 0.4121

023 (0)00 ADO0O00A+ 10, sin(4). (000 B = sin(A;;) 000
BOsin(A)00O000000000.000A%B, A.*B

00 A00000000 2.300
e 00 AD 4,000 A(i,5). Ay = A(i, §)

e A+1000A0D0DOOO0 100000000 (A+10);; = A;; + 10.
gogbboboogobboboooon

e sin(A)0000DO
(Sln(A))” = sin(Aij)

gogboboobboboooobbog 233000
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e ABOOUOO0ODDOOUUDOOOUODODOAxBODOOOO
good

A * B ZAszk]

gog
OOOOMATLABOOOOO A «xBOODOODOODOOOO

000000000000 00 (Hadamard product) 000000
gooooogo

e "00000./0D00O0D0DODODOOODODOOOOOODOODODO
0 (Hadamard power)J 00000 0O (Hadamard division) O O
goon

e 00 A BOOODOa=[A,B|0000 a=[AB/0AO0 BOODO
0000000000 A0 BOOODOOOAD BOOOOOOOO

e b=[A;B|00O0D0 A0 BOOODUODUOOUDADOD BOOODOODODOO

00 2.3)

MATLABO A" (-1) 0 A" (-1)0000000000 1/A000000
00000000000

ooo: /

0000000000000000000
00000000000000000000000000000 AOO
00002x200000000000000000000

00000000000000000000000000000000
0000000000000A==B000A0 BOOOOOOOOO
00000000000000000000000 1000000000
0000000000000000 f(z)==00000000 (z)=00
000000000000000000000
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233 0UU0O0Ooboboon

OO0 A00O0000DOOODO0OO0OMATLABOOODOOOODOO
gboboooboooboobuoobuoobooboobobo

A'I'L

eA

sin A

cos A

nO0 A
PN
1 1
E+A+ AT+ 4 —A" 4 (2.1b)
2! n!
1 1
Adb — AP = p2ntl 2.1
M TR s D R (210)
1 1
E+ —A%2 4 ... 4 = A% ... 2.1
A AT (2.1d)

O000o0oDoO0OO0OoO0OoOMATLABOOOODOOOOOOoOoOOoOoOo
gbooboooboobood
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030 Uttt

3.1 O0O10000

3.1.1 0o0ooon

1171 + ajpxe + a13r3 = by
2171 + A22%2 + A23T3 = by
a31%1 + a32T2 + azzrs = b3

gopooolbogooooguoooooooooboggoooun
Ax =0

O00A0OnxnO0,2, b0 n0000000000O00O0O00ODOODO

__________________________________________________________________________

1>> A = fix(10*rand(3,3)) i 1>> A0O=det(A) I 1>> D=A*C E
A= ! 'A00= ' 1>> E=[100;010;001];!
E 7 6 0 ' i -62.0000 1 1>>D==E i
H P : Eans: !
| 712 I 1>> C=inv(A) v !
'3 7 0 PoiC= i1 3X3 (0 logical B25
'>> rank(A) | 1 0.2258 -0.0000 -0.1935! ! :
b ons = ! ! -0.0968 -0.0000 0.2258% i 1 0 1 :
| I 1 -0.7419 05000 0.5645: i 11 1 |
b3 o Pr101 :
1 >> B=eig(A) |TTTTTTTTTTTTTTmmmmomomt bemmmmmmm oo '
8= ;

1 11.7274 i

| 1.0960 i

| -4.8235 5

031 0000000(0@)00 A00D0DO0D0OO0DOO0OO. (00000
A0DD0O0OOOOC=At000AC=0000000000000
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00 A'00000o0ooooo
x=A"b.

Oo00o0oO0obOoOOooooooobbo0oobOoonDADODODODODDOO
gosbbooobbooboooboooobobbooboooboog
gobbooobobogobbuooobbuooobbooobboono
gobbboogobbbooouooobbbuooobbbooobboan

0310000000000000000
erandd (0,1)00000000

e X =rand(ny,---,ny) 00(ny x---xny) 0000000000
NOOOnyx---Xxny00O0OO0OO

e ix0 000000000000 0D0Ofix(19) = 1, fix(—0.9) = 0).
e rank(A)000000000000000

e OO UOOLOOUUOOOOLODLDOLDLDDOUOOOUOOOO
gooo

U000 D=FE0000003x300000000000DO0O0O0ODO
gboboobobooooboboubobobooboooobon
goboboboooooooooobuoboo b—-FEOO0ODODOODO
O00)0000000000ooooooOoOoo

3.1.2 00100000 MATLABOOOOOOOOO

Ax =b
O00D0D0z=A"'00000
x=A\b

gbogugbobuodgbobuoobobuooboboboobobo 11
gogoobbobbooooooooobbbobbbboodoooooon
ggdgooooooobbbbobbbbbotddouooooooon
gogboboboboooobooboboboooobob nnobboboooon
gogooon
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3.2 ODOOOOOOOOOOO

nxnO00 AODDODOOOOODOOOOOOODOOOOOO0O0ODO O
00z, 2e,---,2, 0000 n0000 10000000

(A—AE)z =0 . (3.1)

AIOODFEO nxnO000002z0000000 = (21,29, ,2,) 00
000 ANODO0D0O0OD0O0D0O00000200000000000000
000000000

0000000000 «2#£00000000000(A—-AE)00000O
000000000000000000000000

det(A — \E) =0 (3.2)
O000NOOOODO00O000O0C0O00O0O0000 3.200

1>> A = fix(10*rand(3,3)) ! 1>> [V D]=eig(A)
A= VS
9 7 0 P10 06479 -0.5672
2 3 0 0 -0.7215 -0.1455
17 5 5 | 1.0000 -0.2443 -0.8106
i >> rank(A) i i D=
{ans = i 50000 0 0
3 P10 12042 0
I>> eig(A) P10 0 107958
ians= I fTTTTTTTTTTTmmmmmmmmmmmmmoooees
5.0000
1.2042
10.7958

__________________________

032 (0)00ADDDOOOOOOODOOOOOOOOOOO. OO0
00 AD00DO0ODOODO0OO0ODOO pOODOOODOODODODODOODOOO
gooooooog vo

e rank(A) D00 AODODODOrank) ODOOO

e c=eig(A) 000000 ADDDOODDOODDODOODOOOOODOO

e [V,D]=eig(A) 0000000000000 DOOOOOOOO
000000000000 V(00O AxV=Vs«D)00O0O0O
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gogoobobbobbbtooooooooobobobobbbdoooooon
googoobbbbobobbbbobbbbbbbdoooooooon
ggboboboogobooboooooboon

MATLABOOOUOOOOOUOOODOOOOOODODOOOOOOO Sym-
bolic Math Toolbox 00O 0OODOO0OODDOOOODDOOUODOODOOODOO
gogoobobbbbobbodoooooobbbbobbduooogon
ggbbbuoodgobbboooobooboooobbbooooboo

4.1 U0O0O0OO0OOOOOOOOOOOO0OO0

4.1.1 0O0OU0O0OO0O0OUoObboooooooboboood

gbogbouooboobo4i10b000b0o0od

: >> s=sym(’s’) ' : ___________________

>>symsy z !
1 >> expand((s+1)"3) | >> expand((y+1)"3) !
I 1ans = |
jans = ! |
JYA3 +3%yA2 + 3%y + 1 I
|
|
|
|
|
|

1
A3 +3%sh2 + 3*s +
1573+ 372+ 3% +1 '>> simplify(z/3+3*2/2+3*2+1)

U 41:00000000000000b.

e r UDIUDDUUODLOUODLDUOLDUODOO syms z UOOO
r=sym(2)0000

e expand DO OOOO

e simplify DO DOODOODOOOOOOOOODOODOO
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goooooooooopbooogoooooooooooooog
A = sym('A’,[2 4))

O002x400 A0D0OO0OOOO0ADyO00 AIjOOODODOOOO
O0sym 000000000 0ODO0O0OO00O0O0ODO0O0OO0ODOO underscore
gogobobbobooboobooboobod

4.1.2 O00O0OOOOOO

gogodgbbbobbbbiooooodoooooooboooooonon
gogobobbobbbtboddgoooooooobboduooooon
000000000000 4.2)0

:>>symsabcx :>>symsx I

. |

| 5> eqn=a*xA2+b*x+c==0; | >> eqn=sin(x)==1 !
1 _

| >> sol=solve(eqn) €N = |

. :sm(x) ==1 "

sol = 1>> sol3=solve(eqn,x) :

-(b + (b"2 - 4*a*c)7(1/2))/(2*a) 1 1Sol3 = |

1

-(b - (b"2 - 4*a*c)7(1/2))/(2*a) !

_____________________

>> sol2=solve(eqn,x)

sol2 =

-(b + (b"2 - 4*a*c)*(1/2))/(2*a)
-(b- (b2 - 4*a*c)A(1/2))/(2*a)

B,
~
N

042 000000000.

eeqn=---==--- 000000000000 ‘eqn’ ODODOODOO

e solve(eqn) OO OO ‘eqn’ 0000000000000 OOOOO
symvar OO0 0000000000000 0OO0ODOO0OOO0DO0
0000000000'00000000000000000000
goddddddUsymvarD0OD0DO0OO0DO0OO0OO0O0O0OOO0O0O0OO00O
gogbbobuoogobooboooon

e solve(feqnx) 0000 equ 000 00000000 O0DOOODOO
goo

1000000000 000000000000000000000000
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4.2 OO0O0OOOOOOO

goggobbbboouodogooooobbbbbbotbduooooon
ggod

4.2.1 0O

00000000000000000000000000000000
00000000000000

00000 diff(f), diff(f, z)

000000 f000000RO00000O

00000 diff(f,n)

000

00000 fz)0000

00000 eq2=diff(f,2)
000020000000000eq2(z)000000z=2,0000 2
00000D000000000D0 4.3)

| >>syms X n | 1>>symsxn i
| >>f(x,n)=x"n \1>>80n)=n*x"(n-1) E
) = et |
I | n*xMn-1) .
| X n L |
E >> df1(x,n)=diff(f,x) i E >> intg(x,n)=int(g,x) i
1df1(x, n) = | Hintg(x, n) = E
! n*xA(n - 1) ! ' piecewise(n ==0, 0, n ~=0, x*n) i
;>> df1(2,n) L I>>int(g[1,2]) i
1ans = i tans(n) = !
i 27 (n - 1)*n i i piecewise(n==0,0,n~=0, 2n-1) E
| >> df2(x,n)=diff(f2) !

i df2(x, n) = |

n*xAn-2)*(n-1)

043 0000000000.
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4.2.2 000

gbogobgoboobboboobooboobo

4.2.2.1 000

000200 z,y000 f(z,y)O

00000 syms Xy

00000 f=x" 24x*y+3*y" 3
O0o0doobooxoooooooon

00000 diff(fx)

yooooooooo

00000 diff(fy)

gooooooogoo

00000 diff(fx1,x2,000 xn)

0000000 fOx1,x2,0M,xn OO0O0O0O00OO0OOO

goon

zy(a? —y?)

flz,y) = pEay

gigbogboboo20boboboboooobbobobooboan
goooood

4.2.22 0000O0ODOOO

oo0ooo f(xy, 2o, ,7,) 00000000000000OCDOOOgradient
gobobobooooboon

O Syms Xi Xgo -+ Xp

[fxrs fxps -+ fx, ] = gradient(f)

f(x) 0 n0000000
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4.2.2.3 UO000O0OOO0OO0OOODOO

gogbbobooodgbobobodn

O r = z(u,v)

Yy = y(u’ U)

oot z,y0D000000w,o0000000000000000O
gogboobbooggn

/f(%‘,y)d:cdy:/f(x(u,v),y(x,v))|J|dudv

000000J|0000000J0000000000000 (z,y) 0
(u,v) 00000000

(& s ooy oroy
N g—z % C OQudv  Ovou

gogbobobogoobobodao

O syms u v
r=u."24+v."2
Yy=2%x. %Yy

jacobian([x, y], [u, v])

4.2.3 0O00O0OO0OO0OOO

00000000 bOo000D 1000000000 b0oOO00on0MATLAB
godoobooooooouoood:

godbOb0 >> symsx

00000 >> f=log(1+x)

00000 >> taylor(f,’Order’,8)

godbbl ans =
O0000x"7/7T-x"6/6+x"5/5-x"4/4+x"3/3-x"2/2+x
godoobooooooooooooooooooooot
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00000 >> syms x

00000 >> taylor(log(14+x),x,’ExpansionPoint’,0)

goddn ans =

00000 x"5/5-x"4/4+x"3/3-x"2/2+x

00000 >> taylor(log(1+x),x,’ExpansionPoint’, 1)

Uoodn ans =

00000 x/2 + log(2) - (x-1)"2/8 + (x- 1)" 3/24 - (x- 1)" 4/64
00000+ (x-1)" 5/160 - 1/2

00000000 log(l+x) O x=0 00000000000 x=1/200
gbodgbooboboboboboobuooboobuogboobobbon
gobbboooboboboooobboboooobboooogd

godoooooobbbboooooood

00000 fplot(f,[x1 x2])

000000 (plot(xy) 00 (2,9) 000000000000 M [xI x2] O
guobboogoobboooobboobbbooobbuoooooon
000 550000000

4.2.4 00O

ggoouobooobobbooooo

00000 int(expr,var)

goboooouobobbtboidd var OO0 OO expr g
gogoog.

00000000 OoO000oooooooooooooooOO [1.0,2.0]
gboogod

00000 int(expr, [1,2])

000000 4.3)

"=0000 £000

200000030000 00O000d

integral2, integral3
0000000000000 00bOO0DbOO0DODO0Do0o0obOobOobOgog
O0ooooooooooooooon
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5.1 MATLABOOOOO

gogooooobbbobobbbbbboddooooouooobbbon
ggbobuoooobbobuoooobbbooogno
goboboobobobobobooboobooboobooboooon
gobogbodbuobuogboobobobobbbuooboobon
gogoobobbobbodoooooooboboboobbbodgooooon
googoobbbbbbibododdoouoooduoooooooon
gobbooobobuogobbbooobboooobobooobbon
gobbuoodgbboooobbuobuoobbooobobbooobn

5.1.1 0000 on

00000000000 200y00D00OO0DODOODOODODO
0000000 semilogx, semilogyD OO0 OO OO0OOOO loglog OO
00.

000000000000 0o0bO0oo0D—00000ooboooogoog
0000000O0bO0b0000o0ooO0obODOobO0obOobooooooooo

gboobuoobooboobobbobob
e UUDODO
e [
e J0UD0O0DODOODLOOODOOD

gboobuooobuoobuooboobobboobooboobod
‘MATLABOOOOOOOD'00OoOoOOoOoOoOooDOoooDboogooo
gbooboboobn



24 Os50 000

https://jp.mathworks.com/help /matlab/creating_plots/types-of-matlab-plots.html
ggdoooobbbbbuooooooooooooo

5.1.2 2000000

gbogob200000b0o0bobobbooboobboobobon
000000 f(z)000O0D0O0O0ODOOOODOO 5100

>> x=[0:0.1:2%pi]; | o
>> y=[sin(x);cos(x)];
>> plot(x,y) 02|

_________________________

051:20000000000000000 sin(x), cos(x) 0O .

O000020000000000010:0.1:2%i00000 2700
010000000000002,0000000000 sin(zx), cos(z)
gbbuogbbuobobooooobboobbuoobboooo
000000000000 MATLABOODOODODODOD
100000

ggobobbbbbodoooobobobbooag,bbbodago
gooo.

000000000 plot(z,y)0 20000 (z,4,)00000000
2000000000000000000000000 20000y
O0000O0O0Figuwed00O000O000O0000O

cdf00D000 FigwreOOODOOOOODOODOODO
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5.1.3 U040
gboobgobooboobobbod

08 -

0.6

_________________________

04 -

02+

0k

-02 |

-04 -

-06 -

-0.8 -

-1 I I I I I
-15 -1 -05 0 05 1 1.5

0 5.2 f(z,y)=2>+zy+2y*—1=000.

052000000 f(r,y) =0000000002x000y(x)0000
g00obO00ObOO0DbOobOO0bOU0oO0bO0obOobDOobUOOoDbOobOobODOo
0000000000 00oooooon

f=0Q(xy) x.” 2+ xFy4+2%y." 2- 1
O0xyOOOOOOOOO {00000 0anonymous function O O O
ooood

fimplicit(f,[-1.5 1.5 -1.0 1.0])
0000000 f(e,y)=0000000 (z,y) D000 —1.5 <z < 1.5
-1.0<y<10000000

5.1.4 3000000

30000000000000000000000000000000
5.300

plot3(z,y,2)0 30000000 (z,y:,2) 0000000000000
0000000000000 0000000000000000000
000300000000000000000000000000000
0000000
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______________________

1 >> 7 = 0:pi/50:10%pi;
i >> sz =z.%sin(z);
| >> ¢z = 2.%c0s(2);

i >> plot3(sz,cz,z)

gsd 000

0 53:3000000000000 axsin(z), z+cos(z) D00 .

5.2 OOOOOOOO

ggobobbobbotuoduooooobbbobbbodoooogoon

goooon

gbogboboobuoggbuogoboobboboba,obbobboob
gogoobbobbbooogoogobboobobboddooooon
gogogbobbbbboooooooobbbobbbotboduooooon

gobobuoooobbbuoooobobooboagn

5.2.1 UU0UObOOUOOoOOUOUbObboOogo

oogno
y = logx
O
T =expy
O0oobooobooboon
lim logx = —o0, lim logz = +o00
z—0+4 T—00

o000ooO0obD0obOOoboobobDg o, p>000000

lim z%logz , lim z Plogx
rz—0+ T—00

gobbboooboobbboooobbodao
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000 limg oy 2z®loge 00000 t=2*0000
1
x%logx = —tlogt
«
O00z~0+00¢t~04+00000¢t=2""0000
1
rPlogx = —=tlogt

B

000z ~—+0c00t~04+000000lim, 0, 2%logz 0000000
lim, oz Plogz 000000t —0+00 tlogt 0000000000
00000000000 5400

0.8

0 5.4: tlogt.

vu=logtOOOO t=e*0000O
tlogt = ue"

000z = 0+, (t— 0+)000 2 - o0, (t— 0+4)000000
u—-c00000000e00vw0000000000000000

lim we" =0
U—r—00

0000000 A>000000

lim z%logz =0, lim 2 Plogz =0
z—0+ T—00
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0000000000 000Od0 |lege|l00x—0+0 2000000
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5.2.2 UUO0OOOOOOOOOOO

gbodgbobodbobobobooboboobooboboobob
gbobobooboboboobobubobdbOdd Weierstrass

o0

3
RN n bn O<a<1,b000,ab>1
flx Za cos( ;o ( a ,a +2)

n=0

0000000000000D0000000000000000000
0000000000000000
00000000000000000000|a"cos (b"z)| < |al”, |a| < 1
00000000000000000000000000000000
00000D00000000000
00000000000000000000000000000000
000000D0000000000000000000000 5500

lll\ ) lll

mn m m' " U Il‘l

onen ” ooy ,hu !"\ 1' i \'Hl |
| plotlta); Lol ‘ |[' H' w 1|

|
1b=13.0; P2,
! t=[-pi/2*1:pi/10000.0:pi/2*1];
I x1=cos(t);

2r
E x2=x1+cos(13*t); i
| X3=x2+cos(13/2*t) V15 } ‘
|
\

o

i plot(t,x1);grid on !
! hold on voIr
I plot(t,x2);grid on i
! hold on

! hold on

\
! } } ‘ ‘ | “\
Ex=zeros(l,nume|(t)); 5705 L ‘ U ‘ ‘
1 for n=0:1:100 !
x=x+ a*n*cos(bAn*t); H [ l
I end

' 1
E plot(t,x) E 15k

0 55: 00000000000 (a=0.5,b=13).





